L2 
Revision Test A     AS 2.6      Name:_______________________
1) Simplify  
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3) Expand
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4) Factorise 
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5) Simplify:
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7) Expand
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8) Factorise 
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9) Simplify: 
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10) Simplify: 
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L2 
Revision Test B     AS 2.6      Name:_______________________

1) Factorise  
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2) Simplify  
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3) Write with positive indices  
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4) 
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5) Simplify and write in index form  
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6) Simplify: 
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7) Simplify 
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Revision Test C     AS 2.6      Name:_______________________

1) Solve  
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3

6

x

4

4

x

=

+

+

-




2) 
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3)  Solve  
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4)  Solve simultaneously  
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5) A coffee lounge charges $1.80 for a cup of tea and $2.40 for a coffee.  One morning there were 53 cups of tea and coffee sold altogether, and the total was $117.  How many of each type of drink were sold?

6) An internet café sells a web card which costs $10 and drops in value by $2 per hour.  The formula 10 – 2x gives the value of the card after x hours use.
Write an equation and solve it to work out how long a card was used if its value is now $3.60


7) The internet café sells a more expensive card which is better value for heavy users. 
It costs $100 and drops in value by 60 cents per hour.  Write a formula that gives the value of the card after x hours use, and write the possible range of values that can be substituted into the formula.
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(Achieve)

1) Solve  
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2) Solve  
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3) Solve  
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4) Solve  
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(Merit)  

A right angle triangle has sides given by x, 3(x + 1) and 4x – 3

Use Pythagoras to calculate x if:

5) the hypotenuse is 4x – 3

6) the hypotenuse is 3(x + 1)


(Excellence)

7) The quadratic equation 
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 is a perfect square. 

Find the value(s) of p
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(Achieve)

Make x the subject of 
1)  
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4)  
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(Merit)  
Make x the subject of 

5)  
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6)  
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7)  The volume of a sphere is 
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  Rearrange so r is the subject of the formula.
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